Pay Dock Employee worked 25" through 30" (end of the month), retired on 1%. Semi-Monthly
Example L Salary is $1500; 10 day pay period: 5 Days worked

Option 2
1. Calculate the amount of Regular Pay due the employee.

a. $1500 divided by 10 working days in pay period = $150 per day

Cred Comp - 50 5 days multiplied by $150 per day = $750
b. Key $750 as an HUAO3 Regular Pay Override
2. There is no Creditable Compensation for this period as Retirees cannot be
REGU$'-7'§§ ey reported to VRS beyond the 24" of the month in which they retire. Change
the Retirement Code on HMCUL to “LT” to turn off Retirement (012 or 127,

116, 117), Retiree Credit (105, 115), Group Life (102, 120) and LTD (106,
136, 104, 144) deductions on HOZDC. Overrides are necessary on all of these
deductions if you do not change the Retirement Code on HMCUL1 to “LT.

3. This item will appear on Report 869.



